
p(x) =
m∑
j=1

ajϕj(x)
{
Ai,jaj = Bi, Ai,j = (ϕi, ϕj), Bi = (f, ϕi) − przypadek ciągły
Ca = D, C = ATA, D = ATB, Ai,j = ϕj(xi), Bi = f(xi) − przypadek dyskretny

Tm(x) =


T1(x) = 1
T2(x) = x

Tm(x) = 2 · x · Tm−1(x)− Tm−2(x)

{
xi = cos

(
2·i−1
m−1 ·

π
2

)
, i = 1, 2, · · · ,m− 1

x→ z : z = 1
2 [(b− a)x+ (b+ a)]

(ϕi, ϕj) =
∫ b

a
ϕiϕjdx, (ϕi, ϕj, µ) =

∫ b

a
ϕiϕjµdx

Ortogonalność: (ϕi, ϕj)
{

= 0, i 6= j
6= 0, i = j

Ortonormalność: (ϕi, ϕj)
{

= 0, i 6= j
= 1, i = j

(
Ti, Tj

1√
1− x2

)
0, i 6= j
π
2 , i = j 6= 0
π, i = j = 0

s(x) = p(x)+
n−1∑
i=2

bi(x−xi)k+ =
k+1∑
i=1

aix
k+1−i+

n−1∑
i=2

bi(x−xi)k+, (x−xi)k+ =
{

(x− xi)k, dla x > xi
0, dla x ¬ xi

bj =
fj+1 − p(xj+1)−∑j−1

i=2 bi(xj+1 − xi)k

(xj+1 − xj)k
, j = 2, 3, · · · , n− 1

α · uxx − ut = f, (x, t) ∈ Ω, a ¬ x ¬ b, t ­ t0{
ui,k+1 = λui−1,k + (1− 2λ)ui,k + λui+1,k −∆t · fi,k, λ = α∆t

h2
, λ < 0.5

ui,k = −λui−1,k+1 + (1 + 2λ)ui,k+1 − λui+1,k+1 + ∆t · fi,k+1

uxx − βutt = f, (x, t) ∈ Ω, a ¬ x ¬ b, t ­ t0

ui,k+1 = λui−1,k + ui,k(2− 2λ) + λui+1,k − ui,k−1 −
∆t2

β
fi,k, λ =

∆t2

βh2
, λ < 1

E(X) =
k∑
i=1

xipi, E(X) =
∫ +∞

−∞
xf(x)dx

V (X) =
k∑
i=1

(xi − E(X))2pi, V (X) = σ2 =
∫ +∞

−∞
(x− E(X))2f(x)dx

D2(X) =
(∑

x2
i pi

)
−
(∑

xipi

)2

D2(X) =
∫ +∞

−∞
x2f(x) dx−

( ∫ +∞

−∞
xf(x)dx

)2

F (x) = P (X ¬ x) =
∑
xi¬x

P (X = xi) =
∑
xi¬x

pi, F (x) ≡ P (X ¬ x) =
∫ x

−∞
f(u)du

lim
∆x→0+

P (x ¬ X < x+ ∆x)
∆x

= lim
x→0

F (x+ ∆x)− F (x)
∆x

= F ′(x).


